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a-—F m & A B C D |ABCME|7-2 (k%) B =
S—1C 7 3 20 | 16 | 10004 |20/\EA | &7k
S—1zCsit| 7 3 20 | 16 | 10004 |20/MEA | FT1 b
S—-3C 8 | 35 | 22 | 175 | 1000%& |20/MEA | K71 k
66154 |S—4C 8 3.5 25 20 | 1000%& |10/MfEA | FTA b
66155| | s—5C 8 3.5 32 27 | 1000%F |[10/1EA | FTA b
s—11C 7 3 20 16 | 1000%& |20/1EA | 7U—L
s—22C 8 35 | 22 | 175 | 10007 |20/ EA | 7U—L
S$—25C 8 35 | 25 | 20 | 10007 [10/fEA| 7U—L
s—32C 8 35 | 32 | 27 | 10007 [10/MEA| ZU—L
a—-F | & & A B C D |ABKCME T—Z2 (X% # =
66059/ | S—OF 7 3 16 13.5 | 10004 |20/8A | =70
S—1F 7 3 20 17.5 | 1000% |20/\EA | 1=70
S—2F 7 3.5 22 | 186 | 10004 |20/EA | 1=~0O
S—3F 7 3.5 25 | 21.6 | 10004 |10/MBA| 1=70
S—4F 7 3.5 32 | 28.6 | 10004 |10/MEA| 1=/0
S—5F 7 3.5 4 376 | 500%& |10/MEA| 1=70O
66065/ | S—6F 7 3.5 50 46.6 | 400%& |10/EA | 1=/0O
a-—FR L A B C D |AKCME) -2 (XH) @ B
SFS—20 7 3 20 | 175 | 1000 |10/\fEA | SUS410
SFS—22 7 35 | 22 | 186 | 10007 |10/MEA | SUS410
SFS—25 7 35 | 25 | 21.6 | 10004 |10/MEA | SUS410
SFS—32 7 35 | 32 | 286 | 1000% |10/\fEA | SUS410
SFS—40 7 35 | 40 | 36.6 | 400% |10/\fEA | SUS410
SFS—20W| 7 3 20 | 175 | 1000% |10/ EA | K74k
66196| |SFS—22w| 7 3.5 22 18.6 | 1000& |10/ A | K71 b
aI—-F | & # A B C D |ABCME)|T-Z(XH) B B
S—1FC 7 3 20 17.5 | 1000 |20/1BEA | K741 b
S—3FC | 8 3.5 22 | 186 | 1000& |10/fEA | K74k
S—4FC | 8 3.5 25 | 216 | 1000 |10/MEA | K74k
S—5FC 8 3.5 32 | 28.6 | 10007 |10/EA | K74k
66099| |s—22FC| 8 3.5 22 18.6 | 1000%& |10/f8A | 7U—L
S—25FC| 8 3.5 25 | 21.6 | 1000F [10/MEA| ZU—4
66159] | S—32FC| 8 3.5 32 | 28.6 | 1000%& [10/\fEA | 7U—L
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